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QUESTION 1

A backup administrator has created a schedule to run a full backup on Friday and an incremental backup Monday
through Thursday. On which of the following days of the week will the backup clear the archive bit on files during the
backup?

A. Monday through Thursday

B. Monday only

C. Friday only

D. Monday through Friday

Correct Answer: C

QUESTION 2

Which of the following involves finding and correcting the MOST important reason for performance issues?
A. Root cause analysis

B. Replicating the problem

C. Defining preventative action

D. Theory of probable cause

Correct Answer: A

QUESTION 3

A server technician has just installed a server with several roles. The technician then launches a command prompt, runs
the netstat command, and notices the server is listening on the following ports: 88, 389, 464, 3268, and 3269. Which of
the following server roles is MOST likely installed on this server, given the ports above?

A. Database server

B. Directory server

C. Mail server

D. Web server

Correct Answer: B

QUESTION 4

A server administrator wants to increase the availability of a web server without implementing a cluster. Which of the
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following would accomplish this task?

A. Configure round robin DNS entries

B. Configure an active/active service

C. Configure an active/passive service

D. Configure two servers with the same IP address

Correct Answer: D

QUESTION 5

Which of the following concepts is described as multiple logical subnets traversing the same physical network?
A. DHCP

B. VLANs

C.DMZ

D. VPNs

Correct Answer: B
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